

20. 11.

42/2

$$a) \begin{array}{r} 846 : 2 = 423 \\ 04 \end{array} \quad \begin{array}{r} 846 : 9 = 94 \\ 36 \end{array}$$

06

0

0

$$b) \begin{array}{r} 546 \\ - 138 \\ \hline 408 \end{array}$$

$$c) 400 \cdot 10 = 4000$$

$$\begin{array}{r} 546 \\ - 138 \\ \hline 408 \end{array}$$

42/3

pomerančů 5 kg

zaplatila 500 Kč

vráceno 305 Kč

1 kg pom. ? Kč

1 kg pome-
rančů stál

39 Kč.

$$\begin{array}{r} \text{nákup: } 500 \\ - 305 \\ \hline 195 \end{array}$$

$$5 \text{ kg: } 195 \text{ Kč}$$

$$1 \text{ kg: } \begin{array}{r} 195 : 5 = 39 \\ 45 \\ 0 \end{array}$$